C1 CHAPTER 2

QUADRATIC FUNCTIONS

GRAPHS OF QUADRATIC FUNCTIONS
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If a > 0, the graph will look like:
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If a < 0, the graph will look like:

SOLVING QUADRATICS USING FACTORISATION

Example
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Example
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Ex 2B

COMPLETING THE SQUARE
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Example
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Example
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Ex 2C
SOLVING EQUATIONS BY COMPLETING THE SQUARE
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Ex 2D
QUADRATIC EQUATION FORMULA
 

Proof
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Example

Use the formula to solve the equation   2x2 + 6x – 1 = 0
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Note: always record this bit

Ex 2E

DISCRIMINANT & SKETCH GRAPHS

The quantity b2 – 4ac is called the DISCRIMINANT
This is because it determines the nature of the ROOTS of the equation. (i.e. the solutions)

If b2 – 4ac > 0, then there are 2 distinct real roots

If b2 – 4ac  = 0, then there are 2 equal real roots

If b2 – 4ac < 0, then there are no real roots

No real roots means there are no values of x for which

ax2 + bx + c = 0. This means that the graph will not cross

the x-axis (where y = 0).

For a > 0







For a < 0.





Example
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Move graph of y = x2 , 1 unit to the left and up 2 units

Note the discriminant here = 22 – 4 x 1 x 3 = -8

So there are no real roots and graph does not cross the x-axis.

Make sure you clearly indicate any intercepts made withy the axes.

Example
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Ex 2F & 2G

� EMBED FXEquation_2_32  ���
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